November 17, 2015

Reduce the given matrix.
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1. Show that vy, v,, v3 are independent but vy, v,, v3, v4 are dependent:

1 1 1 2
vi= |0 vpy= |1 vz = |1 va= |3
0 0 1 4

Solve c1vi+:--+c4v4 =0 or Ac = 0. The v’s go in the columns of A.

The columns of A are independent exactly when N (A) = {zero vector}.
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2. Find the largest possible number of independent vectors among

1 1 1 0 0 0
—1 0 0 1 1 0
V1= 0 V) = 1 V3 = 0 V4 = 1 V5 = 0 Ve = 1
0 0 —1 0 —1 —1

This number is the of the space spanned by the v’s.




